MATH 106-PRACTICE PROBLEMS ON DIFFERENTIATION.

Find ¢ = Z—g for each of the following:

Dy=(z+ x3em)4

Ny=1\1+/1+Vz

5) I+ var+1
y= ret — 1

6) y = et

8) y = (sin(a?))(cos(e”))

10) y = (sin®*(5z))(tan®(4x))
12) y = 2 sin~'(y/1) + secx
14) y = (sinz)(In | sin z|)

)sinx

16) y = (cosx

18) y = Y1+ cos?x + tan?z

20) y = In(esc® (V)

2 y— (x+\/5>15

x2_2m

4) y = [r+a(@®+ 5]

r+17°
Ny=t
)y aﬂL_J
tan~! 3z
11 =
)y Vo +1

13) y = [zIn(z® + 1)}5
(n2) + /&
1)y = x + In(2x)
17) 2*cos(y — 1) —myP =1+

19) B sinx 4+ cosx
y= tanx 4 secx

21) y = wsinh® z + tanh 4z



